CT2-5. The graph show positions as a function of time for two trains running on parallel tracks.

[image: image1.wmf]time

position

train A

train B

t

C

Which statement is true:

Pink:  At time tC, both trains have the same velocity.

Green: Both trains speed up all the time.

Blue: Both trains have the same velocity at some time before tC.

Yellow: At some time, both trains have the same acceleration.

Purple: None of the above statements is true. 

Answer: Both trains have the same velocity at some time before tC.  At time tC is when they have the same position. 

CT2-6 An object's velocity vs. time is:
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Which graph best represents the object's acceleration vs. time?
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Purple: None of these!


Answer: Green

CT2-7

A trick question:
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Which object, A or B, has larger velocity?     A: Pink     B: Yellow

Answer: B has a positive velocity; A has a negative velocity. Positive numbers are bigger than negative numbers, so B has the larger velocity.

A better question:

Which object, A or B, has higher speed?  A: Pink   B: Yellow

Answer: A has the larger speed, since the magnitude of its slope is greater.
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Purple: None of these!
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